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1 Introduction
In last RAN4 #90meeting, WF on simulation assumptions for BC tolerance requirements was approved [1]. In this contribution, we provide our simulation results for FR2 PC3 UE using realistic beam pattern considering implementation aspects based on agreed WF.

2 Discussion 
Based on WF to evaluate BC requirements, we use option 2 of per Beam to model phase/amplitude error between Rx and Tx beam in addition to following simulation parameter.
Table 1. Simulation parameter

	Parameter
	Unit
	Value

	# of Total Beam
	
	# of Tx, # of Rx = 4 or 8

	Beam pattern
	
	Realistic UE beam pattern on n257

	Phase Error per Beam (δpk ) 
	Degree
	5(/10(/15(/20(

	Amplitude Error per Beam (δak )
	dB
	1 dB / 2 dB / 3 dB

	Error in RSRP estimation(Dk )
	dB
	2 dB


In Figure 1 and 2, we present our simulation results for UE using 4 and 8 Beam, respectively.
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Figure 1. ΔEIRP simulation result for 4 Beam UE
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Figure 2. ΔEIRP simulation result for 8 Beam UE
Although, we evaluated simulation results for given various combination for phase error and amplitude, we think that this value should be based on implementation aspect and RF calibration cost. In our views, 15( of phase error and 2 dB of amplitude error seems feasible as implement target with reasonable cost. Considering up to 15( of phase error and 2 dB of amplitude error, beam correspondence requirement should be 4 dB of ΔEIRP at 80%-tile point.
Proposal. Use 4 dB of ΔEIRP at 80%-tile point as beam correspondence tolerance requirement.

3 Conclusion
In this paper, we provide our simulation results for beam correspondence tolerance requirement for FR2 PC3 UE. Based on our simulation results, our proposal is as follows;

Proposal. Use 4 dB of ΔEIRP at 80%-tile point as beam correspondence tolerance requirement.
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